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Note: All questions are compulsory. Each question carries equal marks. Carrymg‘f‘}f E%W

phone during examinations will be treated as case of unfair means.

1. (a) Implement the following Boolean function using 8X1 MU
F(A,B,C,D) = 2(1341112%@1*3)

w’%
(b) Implement the common bus architecture for 4 b ts f%ers using three-state buffers
and a decoder instead of the multiplexer

2. Design a 4-bit Arithmetic Circuit with
following Arithmetic Microoperatiog;s%

h&;j%ﬁ:circuit Function Table to implement

(a) Draw the blockfdiagram ffi‘ the hardware that implements the following statements:
X 4+ yz: AR « AR + BR

where AR %R are two n-bit registers and x, y, and z are control variables. Include the
Iog1c %ﬁ Bt*the’ control function. (Remember that the symbol + designates an OR
operafig ontrol or Boolean function but that it represents an arithmetic plus in a
n;iéroop 10n )
?la &%dxgltal computer has a common bus system for 16 registers of 32bits each. The bus
I8 nstructed with multiplexers.
*y, “gutow many selection inputs are there in each multiplexer?

“*b. What size of multiplexers are needed?
¢. How many multiplexers are there in the bus?




